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Mark schemes are prepared by the Principal Examiner and considered, together
with the relevant questions, by a panel of subject teachers. This mark scheme
includes any amendments made at the standardisation meeting attended by all
examiners and is the scheme which was used by them in this examination. The
standardisation meeting ensures that the mark scheme covers the candidates'
responses to questions and that every examiner understands and applies it in the
same correct way. As preparation for the standardisation meeting each examiner
analyses a number of candidates' scripts: alternative answers not already covered
by the mark scheme are discussed at the meeting and legislated for. If, after this
meeting, examiners encounter unusual answers which have not been discussed at
the meeting they are required to refer these to the Principal Examiner.

It must be stressed that a mark scheme is a working document, in many cases
further developed and expanded on the basis of candidates' reactions to a
particular paper. Assumptions about future mark schemes on the basis of one
year's document should be avoided; whilst the guiding principles of assessment
remain constant, details will change, depending on the content of a particular
examination paper.
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Unit 1

Criteria for Assessment
The assessment objectives will be allocated in the following way.

"fzé)f Marks
A02 Response to written language 65 65
A03 Knowledge of grammar 25 25
A04 Knowledge of society 10 10
TOTAL 100 100
The marks will be allocated in the following way.
A02 A03 A04
Section 1 27 10 3
Section 2 15
Section 3 23 15 7
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Section 1
Question 1

%) Any three of the following or similar:
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3 marks (AO2)

¥)  Any two of the following or similar:

o o5 e

o AW /uf{B 3g |
e I A [BWIA Ot FROR % AT I
2 marks (AO2)

R) Any two of the following or similar:

' a3 Rt TSt
o GTAY % e foe 359 / PGl oo i

o % cormre o= =g Wid
2 marks (AO2)

) Any two of the following or similar:

Rafica e wrot o1t oo PR / 3591 AW reret
+
Y3 Sl ATt [ oo =opf oiteT wAeivet / T *Iie Zre!
3 marks (AO2)

)] Any one of the following or similar:

o  FCETCSE CRLCTCICIA! JMCH G [
(BITAR WW]%'@WWWT + the following or similar
o AR R W / (it Ao +3 few
2 marks (AO2)
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Any one of the following or similar:

o A &
° NI *N
. e @4t

o VIS FIS I 1
1 mark (AO2)

Total for question = 13 marks (AO2)

Question 2

Any five appropriate sentences. The following sentences are given as possible responses:

3191 ICET, TP AT

I TFA FC I, (NCIB! ¥ AR iy g3 faieant =t
FN-TING! ACEA, IR0 oAl

A TS, Tl 2R RSB e

I 3, FReR gfee! xrx Rarer v

= I, (AW Sk chRTe! e

1 30, SRS, o, i, @I GRSt 2% (=R &)

FETEE AR ST Feot, @t 8 B (s slet wa1-arm @

2marks (AO2)
3 marks (AO4)

Total for question = 5 marks (AO2 + AO4)
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Question 3

One mark should be awarded for each correct answer as given below. The following or
similar will be accepted:

3, Tviget + a correct/appropriate sentence.
g, IF + a correct/appropriate sentence.
9. g + a correct/appropriate sentence.
q, fost + a correct/appropriate sentence.
8. AGNE + a correct/appropriate sentence.

Total for question = 5 marks (AO3)

Question 4

One mark should be awarded for each correct answer as given below:

1% 7oy | GrgR % | fagt
3. | agfen w9 (T IS RReres zaafeee v
2. | W e sReE ¥ o[ v
. | CREAIENT RSN =2 AT v
¥, | ed e A fo=1 [ais Wo) v
6. | CH TACORT (ARIF & FAo] I0T AT | v
5. | NIE GT IAGAICAR ot WS Fea st v
%, | W WS, TF-ASTEE e &) AfSSIR waaia| v

Total for question = 7 marks (AO2)
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Question 5

One mark should be awarded for each correct answer as given below:

, %% TN FTI IS *H /¥R
TR | SR QT
¥ |IRFRER TFS
g, e BT [/ =
S, | SoE forem
¥, | Enes @TRF
e | S OIS YT / AT

Question 6

Total for question =5 marks (AO3)

Each correctly completed task should be awarded one mark. Candidates are expected to
attempt both parts of each task in the question to earn the one mark on offer. The following
or similar will be accepted

@)
3)
M
)
¥)

T
BIIET

coiee [ P

g /S [ gL

% [ Ffo | I [oiew

+ o+ o+ 4+

an appropriate sentence.
an appropriate sentence.
an appropriate sentence.
an appropriate sentence.
an appropriate sentence.

Total for question =5 marks (AQO2)
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Where Knowledge of Grammar (A03) is being assessed the following criteria should be used.
For Section 1 this applies to Questions 3 & 5.

Marks Knowledge of Grammar (A03)

0-2 Shows very little grasp of grammatical structure. Errors are such that
communication is seriously impaired.

3-4 The level of manipulation of structures and the number of errors make
comprehension difficult.

5-6 There is some awareness of structure. There are still basic errors but
communication is generally maintained.

7-8 The manipulation of basic structures is generally sound. There are attempts to
use more complex structures, but not always successfully.

9-10 The knowledge and use of most structures is good. There are still some

inaccuracies, but these are usually in attempts at more complex structures.

Total for Section 1 = 40 marks

The mark distribution for the questions in Section 1 are as follows:

Ql 13 marks
Q2 = 5 marks
Q3 = 5 marks
Q4 = 7 marks
Q5 = 5 marks
Q6 5 marks
Total = 40 marks
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Section 2

For the translation task in this section, the following criteria should be used.

Marks Response to Written Language (A02)

0-1 Little or nothing of merit.

2-4 Shows poor understanding of the original and translated in a language that has a
very limited range of vocabulary. Errors in spelling, punctuation and grammar
impede comprehension.

5-7 Shows satisfactory understanding of the original and translated in a language
that has a limited range of vocabulary. Errors in spelling, punctuation and
grammar are intrusive and affect comprehension.

8-11 Shows good understanding of the original and translated in a language that has
a wide range of vocabulary. Accurate, with only a few minor erros in spelling,
punctuation and grammar.

12-15 Very good understanding of the original and translated accurately in a language

that has a wide range of vocabulary. Excellent spelling, punctuation and
grammar.

Total for Section 2 = 15 marks
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Section 3

To assess the Response to Written Language (A02) and Knowledge & Understanding (A04)
in this section, the following criteria should be used.

Marks Knowledge/Response/Reaction (A02/A04)
0-5 There is little or nothing of relevance. A zero score will automatically result in
zero for the question as a whole.

6-12 A limited number of points made, many for which are vague or irrelevant. No
justification for points made.

13-18 Some relevant points are made, ideas are not clearly organised. Some reaction
is evident, but the points made are not always justified or illustrated. The
answer generally lacks a clear focus.

19-24 The answer is generally on the subject with a number of relevant points, but not
always appropriately supported.

25-30 Relevant points are clearly made. The answer is focused on the question and

offers ideas which are logically and clearly developed. Good personal reaction,
usually justified.

To assess the Knowledge of Grammar (A03) in this section, the following criteria should be

used.
Marks Knowledge of Grammar (A03)
0-2 Shows very little limited grasp of grammatical structure. Errors are such that
communication is seriously impaired.
3-5 The level of manipulation of structures and the number of errors make
comprehension difficult.
6-8 There is some awareness of structure. There are still basic errors but
communication is generally maintained.
9-12 The manipulation of basic structures is generally sound. There are attempts to
use more complex structures, but not always successfully.
13-15 The knowledge and use of most structures is good. There are still some
inaccuracies, but these are usually in attempts at more complex structures.
Total for Section 3 =45 marks
Total for Unit 1 = 100 marks
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